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REM

LR 1 Frmn 3..‘ hikkEe
Radioactive Decay

#ss%% git up graphics characteristics **ee+

SCREEM2:CLS : X5 =320: Y0 =100: 5% = 1.5:5Y = 5X2.25

REM
B =

¥l =
FOR X1 =
MEXT XI

X1 =
FOR Y1 =
X5 =
NEXT Y1
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100

0133 : REM Activity constant for radon-220
A
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0 : REM draw horizontal axis

-1 !ﬂ TO 110 STEP 2
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REM draw coordinate grid
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FOR YI =
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-100 TO 100 STEP 10
20 TO 90 STEF 10
X0 + 5X*X1 : Y5 = YO - 5Y*Y1: PSET (X5, Y5)

10: rem SCALE FOR SCREEN GRID IN METERS
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LOCATE 1,55 PRINT ‘onc unit= :SC: 8

1000 REM
1010 FORT =
1020 M1 -
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1030 GOSUB 3000
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